1. Question: Many companies now have employee assistance programs that enable
employees, free of charge, to improve their physical fitness, reduce stress, and learn
ways to stop smoking. These programs increase worker productivity, reduce
absenteeism and lessen insurance costs for employee health care. Therefore, these
programs benefit the company as well as the employee. __ Which of the following, if
true, most significantly strengthens the conclusion above?

A) Employee assistance programs require companies to hire people to supervise the various
programs offered.

B) Studies have shown that training in stress management is not effective for many people.
C) Regular exercise reduces people's risk of heart disease and provides them with increased
energy

D) Physical fithess programs are often the most popular services offered to employees.

Answer: C) Regular exercise reduces people's risk of heart disease and provides them with
increased energy.

Explanation: Passage fod I1:e1 S[e@Tw - S (F1=TIfoe 34 FHGIET STFO] FHE! @R T
FNOA [FARYETs ©Iwa MATF NCF SHI, 51T FAAT 432 YT I FAF SNF FranF) a3
(ST FH@F STl AGT, e W FE 932 FACAGH IFHIATT S5 ] ¥
FRE AT

2. Question: Choose the answer that is closest in meaning to the following sentence:
"Despite the great difference in size, shape and function, all human cells have the same
46 chromosomes."

A) All human cells are the same because the 46 chromosomes govern size, shape and function.
B) Difference in size, shape and function are not very great because all human cells have the
same 46 chromosomes.

C) The size, shape and function of human cells are the same, but the 46 chromosomes are
different.

D) Although the 46 chromosomes are the same in all human cells, there are difference in the
size, shape and function.

Answer: D) Although the 46 chromosomes are the same in all human cells, there are
differences in the size, shape, and function.

Explanation: < Despite the great difference in size, shape and function, all human cells have
the same 46 chromosomes. - SFTF, IAFho 972 FAPINTOIF FE [ TRFT AT {RS, NFel
MFF (FIER 8 o (FENETH TE®|




3. Question: In the following four questions, choose the word or phrase that is most
nearly similar or opposite in meaning to the word given in the question:- INFRINGE

A) Intrude
B) Purloin
C) Invade
D) Transgress

Answer: D) Transgress

Explanation: * Infringe - 5. S5/TS/A3T FIT; AfGITG/ATG TN FAT 3. TEHF/SATHT FAT *
Transgress - (5) (K1) T FAT| () (AR, §fF) 5 FA1I () M7 F47, Nfoag 2877

4. Question: BROCHURE

A) Opening

B) Censor

C) Bureau

D) Pamphlet

Answer: D) Pamphlet

Explanation: Pamphlet-a small booklet or leaflet containing information or arguments about a
single subject;Brochure-a small book or magazine containing pictures and information about a
product or service

5. Question: EQUIVOCAL

A) Universal

B) Mistaken

C) Quaint

D) Clear

Answer: D) Clear

Explanation: Equivocal-uncertain or questionable in nature, unclear, ambiguous,
Clear-transparent, unclouded. Source: Oxford

6. Question: ILLUSIVE

A) Not coherent



B) Not certain
C) Not obvious
D) Not deceptive

Answer: C) Not obvious

Explanation: lllusive means - deceptive; illusory. ¥) Not deceptive - Near Opposite meaning ¥)
Not certain - Near similar meaning 5T) Not obvious - Near similar meaning ) Not coherent - Near
similar

7. Question: In the following three questions, a related pair of words is followed by four
pairs of word. Select the pair that best expresses a relationship similar to the expressed
in the original pair: CARPENTER : SAW

A) Stenographer : typewriter
B) Painter : brush

C) Lawyer : brief

D) Seamstress : scissors

Answer: B) Painter : brush

Explanation: Carpenter works with saw, Seamstress works with scissors.

8. Question: FIRE : ASHES

A) Accident : delay
B) Water : waves

C) Wood : splinters
D) Event : memories

Answer: C) Wood : splinters

Explanation: Fire produces ashes;Event creates memories.

9. Question: STARE : GLANCE

A) participate : observe
B) confide : tell
C) scorn : admire

D) gulp : sip



Answer: D) gulp : sip

Explanation: - Stare and glance is way of looking; - Gulp and sip is way of drinking.

10. Question: Each sentence below has two blanks. Choose the set of words for each
blank that best fits the meaning of the sentence as a whole: Although a few years ago the
fundamental fact about the milky way seemed fairly well now even its mass and
radius have come into

A) determined --- resolution
B) diminished --- disrepute
C) ignored --- danger

D) established --- question

Answer: D) established --- question

Explanation: As the sentence started with although that means in those gaps there will be
opposite meaningful words. Here established means beyond doubt and question means
doubtful.

11. Question: Because she had reputation for ___ we were surprised and pleased when
she greeted us so .

A) insolence--irately

B) insouciance--cordially
C) arrogance--disdainfully
D) querulousness--affably

Answer: B) insouciance--cordially

Explanation: As the sentence started with because that means the gaps will be filled up with
antonymous words but there the presence of surprised made things altered. So now there will
be antonymous words

12. Question: A statement is an comparison; it does not compare. Things
explicitly but suggest a likeness between them.

A) sarcastic --- unfair

B) metaphorical --- implied
C) sanguine --- inherent
D) blatant --- overt



Answer: B) metaphorical --- implied

Explanation: A metaphorical statement is a figurative comparison that implies a likeness
between two seemingly unrelated things without using explicit comparative words like "like" or
"as." It suggests a similarity between the two concepts rather than directly comparing them.

13. Question: Choose the word or phrase that best fill the blank space to complete the
sentences: If a ruby is heated it ___ temporarily lose its color.

A) would
B) Has
C) does
D) will

Answer: C) does

Explanation: A metaphorical statement is a figurative comparison that implies a likeness
between two seemingly unrelated things without using explicit comparative words like "like" or
"as." It suggests a similarity between the two concepts rather than directly comparing them

14. Question: All of the people at the AAME conference are---

A) Mathematic teachers
B) Mathematic's teachers
C) Mathematics teacher
D) Mathematics teachers

Answer: D) Mathematics teachers

Explanation: I 1st Conditional-a3 SwRaeT| 1st conditional 4 first clause f& present
indefinite tense 2 9171 clause {6 future indefinite tense 2@ | ©1%, I [F3E NS T+ RIE
will IHE|

15. Question: Prices for bicycles can run TK. 2,000.00.

A) as high for
B) so high as
C) as high to
D) as high as



Answer: D) as high as

Explanation: - There is no such word as Mathematic's or Mathematic. - The correct word is
mathematics and "All" represents pluralism. - So the correct answer will be "Mathematics
teachers".

16. Question: Travellers their reservations well in advance if they want to fly during
the Eid holidays.

A) had better to get

B) had to get better

C) had better got

D) had better get

Answer: D) had better get

Explanation: Here it tells about the price boundary for bicycles. So 'as high as' form will be
correct according to grammar. Yi*"j‘ffﬁﬁﬂ: Prices for bicycles can run as high as TK. 2,000.00.

17. Question: A seventeen year old is not -- to vote in an election.
A) enough old as

B) as old enough

C) enough old

D) old enough

Answer: D) old enough

Explanation: Enough' 3 91T adjective 0TI STf3% J13%: A seventeen years old is not old
enough to vote in an election.

18. Question: Almost everyone fails --- on the first try.

A) passing his driver's test

B) to his driver's test

C) to have passed his driver's test

D) in passing his driver's test

Answer: D) in passing his driver's test

Explanation: Fail in something e (@ 55‘50\(\9 372f 8371 Option 1) is the appropriate to fill in the



blank. chw: Almost everyone fails in passing his driver's test on the first try. IRaT a2f: F
AR S (GBTe2 RIS TR 71 Fa 75 |

19. Question: Throughout history, the search for salt has played an important role in
society. Where it was scarce, salt was traded ounce for ounce with gold. Rome’s major
highway was called the via salaria, that is the Salt Road. Along the road, Roman soldiers
transported salt crystals from the salt flats at Ostia up the Tiber River. In return, they
received a salarium or salary literally money paid to soldiers to buy salt. The old saying
"worth their salt" which to be valuable derives from the custom of payment during the
Empire. What does the passage mainly discuss?

A) The old saying

B) The Roman Empire
C) Ancient Trade

D) Salt

Answer: D) Salt

Explanation: The above passage mainly discussed salt. It depicts throughout history how salt
has played an important role in society.

20. Question: According to the passage salt flats were located in-

A) Rome
B) Tiber
C) Salaria
D) Ostia

Answer: C) Salaria

Explanation: From the given passage, Along the road, Roman soldiers transported salt crystals
from the salt flats at Ostia up the Tiber River.

21. Question: Salarium is a Latin word that means -

A) Salt

B) the Salt Road

C) Soldiers

D) Salary

Answer: D) Salary



Explanation: - Salary comes from the Latin word salarium, which also means "salary" and has
the root sal, or "salt." - In ancient Rome, it specifically meant the amount of money allotted to a
Roman soldier to buy salt, which was an expensive but essential commodity

22. Question: If a man is,'worth his salt.’ he is-

A) a soldier

B) a thirsty man

C) a highly paid worker
D) A valuable employee

Answer: D) A valuable employee

Explanation: Worth one's salt (PHRASE): Meaning: Good at one's job, good or competent at
the job or profession specified

23. Question: 336 TATF FGTSEFT T TR (TS FIAE o | AT Fo?

A) Sb
B) 38
C)zo
D) vk

Answer: B) 38

Explanation: St $fd, 2T F TIN® 0F + 3F = 0 JL,¢F = »0 .. F =¥

24. Question: 9T WG NANF TN ¢f6F @A o T 1 ¢foq (@IHd F©?

A) @0
B) ¢vo
C) a9t
D) ¢vre

Answer: B) ¢bo
Explanation: &f3, 33 Ramfe & .. T A0 RATTTARB = (F+F+ 5+ F+3+F+0+F+8) =

@Yo FT, (F+50 = @Yo .. F= N0 CIA AL MAEA TR = (F+ G+ F+ L+ F+9+F+ v +F +
D)= F + 0 = C X d0 + 0 = AkQ



25. Question: (F19 SIRATH 3/ (Y IG?
A) vu/to

B) Sw/k9

C) v/t

D) w/SS

Answer: B) Sw/9

Explanation: ©©/¢o = 0.6 B/SS = 0,939 ©/€ = 0.4 $9/39 = 0.8¥88 3O = . LY B/SS 9T T 3/
AT @ (FES TS|

26. Question: 53 8 b 97 & (4 6 MATHR) FIAMH 37T 8 THT [AS™H?

A) 3D

B) v

C) 8

D) 33

Answer: C) 8

Explanation: sTasRaT= {((F TU-TH o0)/SHET AGF} + 5 ={(DY - SR)/8} + 5 = (8/8) + S =3b + 5
=3

27. Question: b, &, So 97 MAfEF TG 9, » A2 (F1F AT MNfAfOF TG FHA?

A) ¢

B) So

C)v

D) v

Answer: B) bo

Explanation: &8 M= x 94T (L + B + So)@ = (x + A+ D)0 T, B =X+ SL T, B -Sb =X ..
X=%

28. Question: I x + 5y=16 9% x = 3y 2T, ORETy =F&7?

A) -24
B) -2



C)4
D) 2

Answer: B) -2

Explanation: 331, x + 5y = 16 91,3y + 5y = 16 q1,8y =16 ..y = 2

29. Question: '$' 3 ' ‘iﬁﬂ%iﬂ'ﬂ AT SR AR Y AT S)o (1T FFET 8¢ RF| "W AT SR AR 'F' A7
/¢ (ST FFE ¢o T F' 3 'Y AT A $97?

A)F = Yo, ¥ =8V

B) ¥ = VLo, ¥y = ¢o

C)F =80, ¥ =8V

D) ¥ =¢o, ¥ = Yo

Answer: B) ¥ = Yo, ¥ = (o

Explanation: 3 T$3(@, (F/3) + (¥/©) = 8¢ JT, (OF + 3)/b = 8¢ T, (0F + W) =3%0......... (S)
fFeIT TSNTE, (A/R) + (F/Q) = 8o AL, (3F + C¥)/S0 =80 qT, 3F + A =8oo............ () () MWx - ()

T X, UF + 82 - UF - SCA = @80 - H00 - ¥V = - Yo ¥ = Yo Y AT T b F 3 INFT TR, ©F +
530 =390 VP =390 - Y0 VP = H¢o F = ¢o

30. Question: feafb I 936 FT& INTFE 8,¢ 8 Y THIF FA© ME| Gfo GIFE NETS FHoF
I FE IF O FOLF FI19 FA© TE?

A) SS/eo
B) 8/5¢
C) v/t
D) /30

Answer: B) bb/5¢
Explanation: (I fSdG 95 TH1T IATHE F1S FA© SE 5/8, S/ AR S/b IR 93 @

TSI (I 2T 33 G20 G| 937 9F@ 9F FHIF AHTE FT FA© = (5/8) + (5/¢) = /30
|

31. Question: 930 FFTTLIF [FTHEH T wo% TIAHEA TN FE®| I TN F0© NI O
W S FTSHIT TR (FICL SR FEW 9T 90 ST & (FICT AH5ET FETT| Foo T
TAH SALNTRT FER?

A) sx0 IF



B) vo &
C) o0 &9
D) Yo &

Answer: B) o &

Explanation: 5T F0@ " f (b00 - 90)% = 0% 0% TR P FF ¥ + JTAT 751zl
FE 1) = wo + 43 TF = 83 T 934, 0% TIHRT = 83 T 3% TIHT = 83/90 T $00% TIHT
=(83 X b00)/90 = Yo F

32. Question: wYoo B1FT FE Yo (CTF THIT FAT AR A 20% TS 9T AMH 20% FTF
7T F91 @RI T FHfT Fo (T 2@=?

A) TS-(NFT (552 27
B) 00 BIFT
C) Yoo 1T
D) @woo DG

Answer: B) o0 5137

Explanation: 0% (8, S0 B fIfF FAE FIT Soo BIFT " wboo BIFT fTHTTS T T3S
(@Yoo X $00)/530 = Voo oLIF 0% Ffe(e, Yo W%WW yoo BIFT.". Wboo BIFT
%WW(@@OO X 500)/1;’0 = 8¢oo EWW]@W Wwooo + 8¢oo = QQooﬁmﬁw
WY00o + VY00 = 9QOOLIF] .". (FFATT = woo LIF]

33. Question: W=+f 21fe 936 (B1ATS 9F MR O ¢ FHR 517 ©fS Fa1 T | &SIy a3(6 MR
o TSI ©fF FaT© © TBT AN 9fE N2 AN [ITF FE GGG /0 T S FI© T
Y ASTE?

A) B/SC HBT
B) ©/8 BT
C) 3/@ b
D) &/8 =BT

Answer: B) ©/8 HeGT
Explanation: 503 1257 fa@ & T01F ©f 27 b/¢ 30 TSI 7R U@ b T617 B 27 v/ 917 4

MRT AF@ S O B FE (/@) + (5/0) T = (@ + )/S¢ T = /5S¢ T B/S¢ T Sf6 T S THF
S I Bf6 TT S/(B/5¢) THIF /0 IRT Bf6 2T (5 * 2)/(¥ X ©) = ©o/38 = ¢/8 FHI

34. Question: BT (I(F BIONRT [ 8¢ WA | S FBIT © FIRT (06T G 9% 2 TBF 8 3T



(ST 2G| FIRA GIFT (@ ISTF 9F T6] 99 IRT SR (U@ GIF] F3TE T@® | IRT Fo 139
3G T AT AT (7 7E@?

A) 55
B) x9
C) 33
D) 18

Answer: B) v
Explanation: FfE S 5T I1F © MET| AR AN T3] (W3ITT IfF A (8¢ - ©) = 83 V2T SO

9F@ S O AfGHH I (@ + 8) = 9 2T SO AF@ 83 3T AfoHH F@ 83/ = b THIT b THIF
R BBIRT (A GIFT ISR & x 8 = 38 {3 (2 FIRGE F (w21 27|

35. Question: ¢b G FOTT JOIFH (FAE 972 (FAHETR I35 560 FAC, IAHET (F (FTAT 95
fares el Fo 22

A) v 36
B) wb. v J&
C)88 b
D) 8. %b

Answer: B) 0b. v b

Explanation: 68 1 ¢ 35 2 J37 T b Hb J@F (Fa%eT = T2 = 0,585 x 3¥2 =
BYY.b IFHH TIN(S, I5MHET (Fa%eT 38LS.9b F5HE IMHET TRA GEff = V(:BLY.90) = 8.4

gl

36. Question: %6 IIME 8o Hb TRI AF6 FRFF ST Mbw® NGO (TI (A > R & T
o | S H2fE ASHT =M S o= 726 Fo {b T=1?

A) 8% b
B) 8w Fb
C)88 b
D) 85> %6

Answer: B) 8© 35

Explanation: WWWWW@%WW&WWM TR+ YRR
= 8oX+HY =SS .. IMOTH = Vbbb = 85 Jb " NIFF THel = 85 Jb



37. Question: S @ Soo TXF WATTRS (T $97?

A) 855
B) ¢&od
C) Good
D) ¢o@o

Answer: C) ¢ood

Explanation: S +3+ w9+ ... +n=n(n+5%)/3.. n=%0XET,S+3+9+ ...+ %00 =400(boo +
5)/R = (Qo X Sob)/R = Qoo

38. Question: I[EYz TGHF CIFTH (FF ATFT T 5e?

A) FATA

B) &N

C) NS
D) (SJ1T6T

Answer: C) J5191&1d

Explanation: &% SIE IRTNOCTH (NATHNT H[Ga K@ 0 fd 3 THFOTTIR TSR, TFH
8 ST T |

39. Question: J[EI@F T GIFT T2H (FF (TEET JIE [2eT?

A) fod 9537 7o F
B) 9% 599 (ToF
C) 519 999 (&
D) 72 9% (1%d

Answer: B) 9% J99 (o4

Explanation: & (T8 GIFT, $Ia], BEATIF 932 @RI @eld ok @ afde | a (T@a IRt
Sfo® 2F 8- FH(E5 A3 Pl 8 (FRTNfera 23 ARt fA@ | Tt IReMHET

40. Question: FfEYHA AT Ty FIGA@ NATE T TS (¥O1F (7] 77?2

A) >

B) So &
C) v &



D) a &«
Answer: B) So &

Explanation: >3 SR s ¢ Fooaa & Ao 53 JfE@aR sz (M6 LY I G
@S (AeT T9e T T ATC - 9 3,39 T - b 5, 17 TFH- $9¢ T, T TO1F- 8L T |
T RS

41. Question: STHIEA J& NIINTT TFSTHET T SXAFI [ETE TISER 9F TCHAS I
O T TN =T-7%] WIS (7T FEA| P SCHAAS (FINT T@RA?

A) o
SEIBIRERIE
C) FAToIte
D) @&

Answer: A) 5I9¥ (Dhaka)
Explanation: 3535 TIRIE SI-88F AOAIT6d STTOXTAT Ve iierd STaCT S LY WETH & (FFANE
AF TTSIT NCHH NS FN b TS TFHT Wl (T FE|

42. Question: IRTCCTT RIAUTEF 25(3) HTHTT T TR "SFT TNF (GBT FAT TSE@TI FO
e FeTF Ffed FOI1" T T FF |

A) ST 3 SIesrey FF T ST
B) 1@ af© Aejstey I HIRTE

C) YIS =S Seystey 1T FHIS
D) Ssed (1] FEF

Answer: B) F1&F 3o IAeyste; FF1T ST

Explanation: (5) SRITYTE 8 SRS J1ey FAT, T THT FA1, ASMIFIIF T ST 932 ST61F 13
FH] I M@F AL 6| () T SAF TASIEF (] FIRIF (BB FAT FSTo@d 36! e
TOTF [fed FOJ5I

43. Question: IRATCTT FHFTF! 2SITF Tely PASH IIH F© GIPII?

A) @o IRT
B) 80 I®g
C) vt 9=F
D) ¢ =9



Answer: B) 8o %7

Explanation: SIETEE & b(s) o2 Se[(ean SIS FHTNE! 3 S0 sy =7 for1fo® 28T fyefes
TN ¢ TRA| B, 81(8) A2 Fo[eaw NI ABAN 7 fAHfo® 28IF FPraros 7 0t I=A|

44. Question: [GRFFIT TFAGF FH] IRATWCT (FTF (7 (F IO @ TN @ &fas

(Direct Foreign Investment) 3A®?

A) I8
B) I&ATS
C) wfsper (=T

D) ME@FAT =96 S F17 2@®
Answer: The correct answer is: A) I&A18 (United States)

Explanation: 96 ifod Fa71 2@®

45. Question: ISATE TFFF FIG I IT NI If691F 571 ©1Fa FI@A?

A) sf 3@
B) ©fE 3@
C):fo 3=
D) oft 3@

Answer: C) x5 3@
Explanation: S9N IRATWCT T6fTo FAT TIFTT T - S TLET © HFTET A2 2T TR 3

YA@F| ST AP AT TIFIF T3] - - 20T FAFHT, - ST A 779 932 - (el Jf779| =g
AP IAT NFFIF [IE- - (NATST 9372 - 6 FeE|

46. Question: I A% AT AT IRATGCIT Il (NI | fofel fF feateiar?
A) FPIGHIF fFeerat

B) F=F fofF35%

C) SfI< faearat

D) ife

Answer: A) $FISHF et

Explanation: f927Te SFFERTT 2&A1E 932 39S 9% SR A1 (Fow[d 20 A1) | - fofr ¥ Sia



TGN TF B HFIENT I BI8TT (IS B2 HI3TF)-aF TFA Fo TS FEA| - O [RT
TO@F CTS SR Fel1 23|

47. Question: [GSFA SFHGF T T TGI AT (3] (OfF (T (A IRATWCIR TN ST
ToPH] PO O AMH?

A) 83.35%

B) ¢8%

C) b¢.¢%

D) ¢8.¢% TSfb 1o Fa1 @A™

Answer: D) ¢8.¢%

Explanation: =36 91fee 341 2@

48. Question: [G3FFIT TFHfGF o T ISHE SFF214] FGTET 163 (Convention on the
Elimination of all forms of Discrimination Against Women)-33 Monitoring Fifa (IS
AT Jrelfe [z fofer (72

A) ST (TRRT

B) STeT3T AT

C) TS (b1t

D) =3 (e #fe Tifee Fa1 2@®

Answer: The correct option is C) TS (GIHAT.

Explanation: 736 1o $a7 2@A®

49. Question: T TGRS FIET FTHRNE RITF 7% 2T (FTH Y@ F19?

A) srenferT
B) (3
C) (18371

D) sprat
Answer: A) STIferT

Explanation: e EETE e (WCTR 3310 TSI AGEE FIRAAT | 6 b ST e (ST
AT FIAGI TIPSR T TSR Ffe 27| 60 ST RO SFRa@T Tl 319
TG 3|




50. Question: fAaTETIF (ST TCIHFIT fFCIF AT TFT FIS 5?2

A) F e
B) STIs1e
C) Rara
D) I

Answer: D) $J

Explanation: IS 3T FIRIAT SRS 56® b8 fifeze by a3z f¥F T =mel wsvmar
forefraer T TR S T 511 - IREACT0T 24 32 b ¢ T FTAF (SelTa TSR FIe Afera
SR ST T |

51. Question: IRTAECT A58 *fed TS N-

A) Afersy (oot

B) mgfes STy
C) ZToT aat
D) REIGERERIGIES

Answer: B) M$foF ST

Explanation: IRNCT A3 MM&F SIH-Aerst (e, S1Fhe I, TRRGT qat SHTHS {5 Mea
FTfAfEF AT T [FESTB-T61 9FF 5970 2| 9F [FENSTT FFOT Fo07e (FT I 9F Tb] F1S1
FAE (T 1 I T OIF 93 [FENSIG T61 IET| (F AHIRNF 2 AM@H [oF HFS 7o Fa71 27
(TG A% FIAT

52. Question: ST TG T 4t (FAG?
A) e
B) It

C) &=

D) Jf&stm

Answer: B) 35t

Explanation: - JfT15T STTIStE M1 A0 | - STETIRT TR TR Ja1 | - TroeT F5he[@a T J4 |

53. Question: 'Existentialism' {&?



A) TarRfImE 9 o9
B) snfafamE a3 o5
C) SR a6 o

D) a%fb wrHfa Team™

Answer: D) a5 wrHfaF STeqmw

Explanation: Existentialism, any of various philosophies, most influential in continental Europe
from about 1930 to the mid-20th century, that have in common an interpretation of human
existence in the world that stresses its concreteness and its problematic character

54. Question: 'Adult Cell' (FTT F(F (T (SOIF o @R ©IF qH (17 IR -

A) TRt
B) @4t
C) fer
D) Tfer

Answer: A) (Tt

Explanation: 'Dolly the sheep" was the first mammal to be cloned using adult cell cloning

55. Question: 'CIIGRAT AT (@ 15 ISHE (&I (W2

A) fifszn
B) 3dT
C) 9a%
D) 381

Answer: D) 331

Explanation: (TCTAGRIY STeyel: ‘(ATGIAT AF(0 &% 7211 I17 91 - 7R J0i9 136! gl -
BRIE 3 TTION (T 3 (FTATS) AAIF NS SASTPINCH T - (TGN M (w1l (7o 97
TS FEA| 1> (TG 52 O o 0T - Tag 3 wffpe|

56. Question: 'Adult Cell' G 3@ (FF (70T AF(6 (SGF I I -

A) T

B) 391
C) SCEIfer ™

D) IFATEY



Answer: B) &4 (United States)

Explanation: - (ST &I (@ 5o S SfT73 292 e SiF YR afF30e @ifer 71 - T,
R TIPS T (FT w000 A6 (SCTH T (7| - T S0 Adult Cell @1 FE (T (ST
S (M3 T ©TF A SfT|

57. Question: @R fF fEa?

A) fofees
B) wrfas
C) (erife
D) (swfefdw

Answer: D) (5WIfefsw (Astronomer)

Explanation: 5@ fera snBle sifaees, (ewifsfsarat, mifedt, gume-rmaw f-amne e
RrEa SIS (T ST foeet o135 | Brerfsr anfas65e-a7 Moy, N[ (@ @ PRI f&FEsa
FEAMRE | RN HE et G wib (e | fSfer g frarit foeeiey | ©fF MG SopiE YRS A
FEAMRE (F, I5f 793 TAR IREF (T SCH

58. Question: (AT JFFET TTOF AT®S (AT &l TARCET-

A) (eEF Af9g TS ReE

B) e FRAF el ReIE

C) SRS T3] FEF

D) Txe ¥aE@R [ACHEs AR &

Answer: A) (S Jfed S RETE

Explanation: SRSES (FRIF AT (AFT fEANRE ANfTET FEN | AP ety fofer
fCAPTRE AIFT FIES TF A6 FRTTHS FIS FIT© (@ AF 0AF fofa [GATRE ATHF 9 TN
I AITFTE W FEA |

59. Question: o 2% Reg 5o 37 fame -

A) wrffaF
B) 31

C) I
D) smrfaw



Answer: C) FNIFEw

Explanation: Fo@d 2f3: Rtgg aFoe afezm TvrifIedl| si afb® 32792- - A Brief History of
Time, - The Universe in a Nutshell - The Grand Design, oI - 5T 2 Ot [T NFTo o
3fF: 97 fF271® 32 — A Brief History of Time

60. Question: AFTF FEAITSIIT W0 (FIET TIHIF (I -

A) FH©D
B) fefsranmg
C) W 5T
D) &IfteT

Answer: C) 4y sIeT

Explanation: S304 51fba R@S F0ateiam 8 (F | fof Joamena Gy maria aamasar
eI oI sifafoe | e S fofer &b (MAMRAT oty foeior | S> o S fofer sTifRrey @Eer
TAHIA S FEA| Y003 W AN 9% ST fofa SHF1Er= o7 FATaaH ZevE swerte 2=

61. Question: [SSFTEIT TFAfOF T I ISAE ANF SFYA 7 1] R TOTANT X AAF (ST
(FINE T(O© 2?2

A) (F3f3

B) frofer

C) AGATGT

D) (& =916 Ifed ST 2@®

Answer: D) (FT@«

Explanation: =36 1o $371 2@®

62. Question: [GSFIAT TFEf6F o; IS A6 SFI2A] TS FIFEARIR A|fFe M
Efore I (7T IR FE?

A) 20

B) v

C) 3

D) xx N6 e Fa1 2 =™

Answer: D) 33



Explanation: 736 1o $a7 2@A®

63. Question: ¥IGEF & G (1 5?

A) T8
B) FTRG T
C) foree
D) Tar

Answer: B) TR0 7T
Explanation: F13 36 STy 932 fAoTaS i | S wIai" Fo0e7 2ET- TH1R6 3 JFS| -

TPfete T8 FAEE & 1 Fod T TFF | TFTF F16 Fo© 376 27| TE, IFhete I19 TIEA
& 419 BREGN | B8z T fFea1el, ATe-w7 Cafer|

64. Question: SNONRES (T N6 AT [HEANT JAT T2

A) B

B) b STTBEEN
C) S A%

D) WISt WECTS

Answer: B) iﬁ‘ RRIEIEED
Explanation: - SToWER F61F N2MH SRIGER FI5EF WIS FEECTS S>0S AEEF Sy (CHFF

AP I T Hoa =T I | FSfT 0 S TS (@& NS TTHE S FEA| - 1T
FIRCTS S NEF So AfET SeTER TS F2MitF ReTE wie a2 FEA

65. Question: [S3FAN 6T T 3 IoA A6 FEF T9] (FF V0T "STEI AAF
T AP Wl HHOIF ANFe?

A) e

B) feSw@fraT
C) 2@

D) Sr&wsnfaga

Answer: D) SI%sTforg1e (Afghanistan)

Explanation: - STEI T AHNAINAT AF0 FEF TN 9T TSNATOF (S| STe o
TRIIE I SIS ST S AT T JFAE 3 TFINF PCTRF e 93 oo



ARSI TG T |

66. Question: 'GIfeT foafoa foasa &2

A) R AEe]
) EISGINEEIE]
C) SyTesTsT

D) fergamr W fofe

Answer: D) fargammr o fof%

Explanation: 31w w1 {6 e 3eiferg aFow fFame Tafiat e ‘cnefesT faft a6
A Trod PSR RAfFe @@ ©fF S AF3 AH F21e Sasst w5 /6 [ |

67. Question: STX (A& RN ST ATG FOHel FH A2

A) so.ab G

B) ».5% ffaG

C) .o ffas

D) v.\9x fafaG

Answer: B) ».5% f3faG

Explanation: It takes sunlight an average of 8 minutes and 20 seconds to travel from the Sun to
the Earth.

68. Question: (FTG JATNAT AT 77?2

A) Tife
B) Iqd
C) fefs
D) Fh="

Answer: C) fefsr

Explanation: - I AT ST (MR (T T1H1 TS AF | - FATT AT SIS I FE| - 37y
Moud T FE G 27

69. Question: 9% ORI NAGE S/ YAFQ (FTAM?



A) RfFIF g
B) (F1eNfoR &7
C) SEIFIF-(TS! §AEY

D) (X791 § &9
Answer: C) STFH-(TS! AN

Explanation: Comet Ikeya-Seki, 1965 — This was the brightest comet of the 20th century, and
was found just over a month before it made perihelion passage in the morning sky, moving
rapidly toward the sun

70. Question: 'smifafera’ {2

A) 5T SET AF6 ST
B) T¥ife sz 936 So1siR
C) Mfef sIzg a6 ToarR

D) S (A AT FToFaFM 6 Fas Saa%
Answer: B) 32If® SR 236 TT7

Explanation: sRIfeifera s{ET (@ A1 Jroifod aFfe $as Sasz| it sE Ffas Sarx
SIS T F@- 9 FSTTT SH¢ A1 97 S99 CT¥ T 000 NEF (LT | B3¥: fFB1fAFT,
QIL

71. Question: IG5 STATRS AT FIE TAT e (FT (FSINAEH ATl NIEH (IfF?

A) (T HTsfer
B) SM2SWF frSha
C) (eT°G1

D) BT afSsey

Answer: A) (& TrEfere
Explanation: Thomas Edison was an American inventor who is considered one of America's

leading businessmen and innovators.

72. Question: T-®F (TG 3 ARPIATERT SRCTH T T [ JET?

A) (sTigfer
B) 8F33s
C) o7



D) = ¥g8

Answer: A) (STIEfel

Explanation: XSE AENFS 432 THFTH TOTH FNI6! JOFIF ICNF TIFS I | ATSEI BT
TRAAT T T IAFPH (F AT AT T & AP 97 (TR (T ot 27|

73. Question: u T IF TSI 517 F67?

A)a.> 1. .
B) 99 (1. fA¥.
C) ax (% fi¥.
D) qu (. f.

Answer: A) 9.5 5T fT.
Explanation: g®F & 933 SIFsNT I ST ANGSENR NN B T76 I3 2T IF 517
E® I TSITF 517 9L (TBRGE AT 9uo R a7 3953 2% 7@W I@T & |

74. Question: TINTHITH 3 SNGATGSH NS NS (FTF TN T2

A) 23S

B) WMI&(eTs
C) THA
D) f&areE

Answer: D) f&aroE
Explanation: SHe@ T3] (© T IER T3 T | FAEIF TN A3 AL 3

ACITSF FRTISNEF FES I SAGANBF 9T SAYTHEERE T FE® I32 AHFI(TFGEI) 3
TETIH(CTE) TTTE JF FE@ | IR Fo FHTHE 3 AT YT FE®

75. Question: IFCT S TON AHa (FIA(6?

INET G
B) =f3sT (G112

C) TR
D) &%

Answer: A) $391d1



Explanation: &% JR<ME SFICTH TSees 1Tl THP 18 T3 Gf6 FIACE- 97 IHIT S/eTo] 93
97 I AT Y32 G 1 afb 96 @1 I TSR THF o700 Fero "WEAIT (Sirius) SHGE
(1A

76. Question: (SNF-BLIF (GSIFLTT FUFT TH?

A) =¥iie
B) aFWIt®
C) argRite
D) ST

Answer: B) aFmIe

Explanation: - S 8 SRR fSfte IS, v 8 ¥ 01T 953 TTIEAT A3 FE | 4 5T 5%
3 A fAifee S Sy (SRR =M1 33 @ JE S| HE J7 (SRNE S8 2 A (GOI61T
|

77. Question: FRAT IAAETT @I Il T2A7 FIG?

INERIEID
B) 713G
C) @IBfo
D) wife

Answer: B) 736
Explanation: - & (TN (NG Fef AT ¢ofb | - FRAT IANET SAfT@F Iof 12257 wfb | - IRAT

FATTAT TART Tof S22 SofB 1| - FIRAT FfATNT AT T2 061 - FNAT FefATNT FIIAT 22T
S8 - FraeRE JefmarE Fefa AT =RTH (V)1

78. Question: "®IF ITN (LR [F& (o INSA" - BT (FT HAE 52

A) ST 1
B) STEEe J1FS
C) f3r= a1y
D) (Jfsr& 13

Answer: C) f3t 3187 (Mixed sentence)

Explanation: S&1& f@Ts$ 2 31 lo1&F W&« 31 firy 3135 fiifere 2@ 9316 5= 3735 5161 Fa
O (@fs1F FT I (@fSIF IMETT FTIsfo AT IIFSET a3, 3, e, arqy, 99w, F2a7, 957,



O Fefe T @S Y& TN o AT |

79. Question: 'aFWeT TG a7 Y fF?

A) SIFTE FYT
B) Sl 3%
C) TS M8
D) CileTsha 3y

Answer: D) CTieT6na 33

Explanation: &% 8797 II54TAT TR SEFE] - ITSTT A5 T WA - NS G A1
RO - TN AFWCT X6 - GO 37|

80. Question: fTRT 2T A1 99 = (F1A(H?
A) NIRRT

B) (RT1R

C) st

D) FfIame

Answer: B) (TR

Explanation: FOSE = (33 % (TR | (I - FIIAT - BIFI - FOUIF - AP

81. Question: 1§ ST XIS (FTT T2

A) e Tfee
B) &d Ffeite
C) sTgd e

D) NG ST

Answer: C) sT@d Ffelte
Explanation: IR SIATE W1y Ao @R () IR (7135 Ny S Jfesifzre Ieawes fazw sresrae

FE 56 AR 97 AN JedfFe 3 g (%) 9 S SFEIF 8 T 7= | (o) Ty s
TR AT 8 TFOIF AT | (F) 2 [fste T 8 {77 7w a3 [Row oasafe e 5|

82. Question: Yt TFIIES <1 TAR (FAGI?



A) ST
B) &
C)
D) Faw

Answer: B) f3ay

Explanation: ‘Ta% FAT6% @ 76 TFIIF = TQ@@|

83. Question: fSf&EIIT a7 =@ F I@?

A) T

B) &w

C) Sifire
D) snfestias

Answer: A) 979

Explanation: - fFef&8d a1 7@ MNe=f0F IET| - HT9F N AT ToiF & 2T CISEE 3T
FE - FITOT M TS T0loEE I 27 F49@ |

84. Question: (FT TIHC TN ST JAHH?

A) @2 T T

B) S ST (N ST

C) 4= 28

D) 31T AFAT AT

Answer: B) ] 97 (H1F 991

Explanation: TR ©X1 IS MR (F1, AWE, A, 724, 8, 7937, w1, g fofe
RfSaeFT SToygfe ST a1 I3

85. Question: HIQF 7F (F1F Jo¥ & F(& ©F 6P [FCTT FAI?

A) e
B)2

C) o
D) a8

Answer: B) 2



Explanation: G163 TR SIEE "a1%' 432 "aN8' a2 96 Jej32 F53%0 2F| (I, - SIS {0
TOE 'R TSTIF HITE - VB + A2 = FOR - SIS (0T @ 'IN3' TSIFF TRNA - VTG +
A3 = TFLIS; V6T + A3 = FTI3 Feliv|

86. Question: Io a1 fF?
A) AT el

B) STefeTTaT &TaelT

C) 0TS &TAe

D) ST STl

Answer: D) ST qTT

Explanation: fRT5 31 YA W SAE N1 SFTCTT ST I RATHS IFCTF SNAGE I6
JE 1T FIT - T (I : IRAT T 53

87. Question: "fF JfF! fF Jwig TSTOF F" - INF "AF A" @A TN JAHI?

A) ST

B) S
C) =3t
D) Sra= 3t

Answer: B) 3319

Explanation: ¥ 5! Ft Jwia geed F91' I 'S A& G A1 4| - (T e A IV
T @I WO (FF o T (F THT S FIT6 2@ T SI0F AN AT 9 I

88. Question: '(MIFAT M@ AF IFo- TSI (FAMG?
A) (ATTeT + 3

B) (Wi + &1

C) (91T + S&]

D) Ve + o1&

Answer: B) (Ul + 91

Explanation: SI1- Te7F: VT + 91T = GeTaf] > (1] (T + ST = (FeTel] [SS T ARAT ST THe,
FFH-TH CIfel, STRFFT-08



89. Question: '@ FIHFR - (F1AHI 372?

A) SR QT 32 FIGT

B) 9% & T (ST
C) P17 519 2@ 8T
D) &fs 31T o1 %3 =ifel

Answer: A) SR O 52 FTGT

Explanation: fF 3= a1 %2 fa (fI07) - 517 3@ St o7 4T, @1t I @ | a6 a3
ST G52 SIA-F9T, TATS AT 972 TN IFTS SIS

90. Question: "SI INFIEF (T AT AT fT37?

A) FTeT

B) 1Y S
C) &N

D) tRf9ox

Answer: B) 9197 J$9
Explanation: « sRfa¥e(gd SEES fIIT T32: - RV THET T, - SHIFA 31, - LHfod TS1F AT
I, - S5, - 2/ FAAIGH, - -7 8 F-7 [ Fonfu|

91. Question: (FEG AAAIEF =T IZIGE TI7© 3J?

A) T=

B) 2T
C) =sf

D) W

Answer: B) 3

Explanation: (3¢ JIfFA6F T I2I6E TIT6 TH3E - WA, 8%, W, f6Fa, [, [,
A, 3| (T TRE, FAOIS®, FIPII, FHANNPH, (FHFE, TSN, SR, Jferan|

92. Question: FFH FuoN IFF (FIHG?

A) fox
B) Ff



C) s&fq
D) ==

Answer: A) o=

Explanation: (X J[RaT3 swsa8 9147 (1 [ @19 NS TAFHT SFIe 2F, O I35 I | -
ST [T SASHT - | - INHIF (NP SAW T2 FuoH IFF - 4| - M4 Fued 153 - |
93. Question: & FT ST fF?

A) O ST

SIGRIER BRI

C) CTIETR ST

D) ST ST

Answer: A) TGTR ST

Explanation: sifafze 7f6 s S s I - Sfha 94 ST o1kF SHIRCET NResere]
A3 TS MY ST | - S T4 SH@AS AF6 ST | - ©F WA T I EN SHIHEF T
94. Question: (@ AL BG7?

A) STfee

B) Sfela

C) sSifew

D) SISt

Answer: B) SRSl

Explanation: 8% a1 (77T 2@ - NG WAIol 97 3 - 5578, S, Taw, TA Tenfe

95. Question: (F17 J2f6 I FILN 5137 Afbw® 77?2
A) (TS o]

B) STt

C) TF &4t

D) (W51

Answer: A) CTET FfFe]

Explanation: (WA-519T F15 AGF 39T AF0 FIHIF| A1, S>3 N 6 T e 23|



3 O O R | 18 86 FfReT A=) 2243 Ffer- 3 58 5[ T |

96. Question: FISI BT 2F-27 "ARGAR’ SIHCIF SHG1S 572

A) 518! Sia@EF F foa

B) $IF WO ST Siaa

C) 3feTs ST AT Sty PiiRAT
D) SIS e F&3Ia TN foa

Answer: C) 3o &g (Tg gy SR

Explanation: T8 29I 2F 930 1w, MRfe1& | - fof s by W 8 @ e (Sl
(TR ST ] 12T F@E | - fofer FfFer, Soan, a3, g 8 s Framfes a6a7 s
TS FEA|

97. Question: S»¢X TEF XS (FFIMHT oY F6M© "FIF" NG J6AO] (F?

A) 37 GIa

B) eI e[«
C) &I XTIy 3%

D) FAt7 At
Answer: C) WWW
Explanation: - JAF (GYRE fFaTe A6F (AFTF) FIF| - FET TINSE@T TEE (ST NFTFTAT TN

fofer af Lo T ToaT FET 932 ©AF2 FHINITT TH] 6 Afedte @R - S>¢¢ NEF A6
T AW AAFTE S AT FAT T TF e 27|

98. Question: 'SToel TH3FE FAT - (FALI AefTq?
A) Honesty is the best virtue

B) Honesty is the better way

C) Honesty is a good way

D) Honesty is the best policy

Answer: D) Honesty is the best policy

Explanation: Honesty is the best policy 95 91qam 'SToe] NE1$FE 3T

99. Question: 'IPNAIF 3oz 36T TIF F?



A) ST S[ATS P (T
B) @1 51 e

C) ST AT
D) F=xFasd a7

Answer: A) IS ﬂg‘fl fogeTa T

Explanation: fT9393a 917, SR (N I2NFREL A& THGF IFG | AT ASHOIH INATGTF,
TRgfoF, TAfes 3 WA MFSErE Ty Ty NG JREISF F1F 97 37N S 16 FE®
©IF T4 TiRe1Fs IBTAT ST S|

100. Question: ) "R -aF (FTVF (F7?

A) 3 sfy

B) SIS T
C) 3 feramstt

D) FfF mam

Answer: D) FfJ &amrit

Explanation: Tz ("Book of Kings") S2IF&@F 66T YT F - (waw@sit (Ferdowsi)| - af6
FEN O Fbe T@®| - 92 TSR0 TEEHF I A Ao Jf5% HRes|



